Economics 231 – International Trade 


Mid-Term Exam
Fall 2010
Please do all four questions.  Questions 1-3 are worth 30 points.  Question 4 is worth 10 points.  Make sure all work is shown, and all graphs are completely labeled.  Good Luck.  
1.
The numbers below indicate the output per unit of resources of both timber and coal in the U.S. and Canada:






U.S.

Canada




Timber

100 bf.

150 bf.




Coal

120 tons
  70 tons

a.
Which nation has an absolute advantage in each good?

b.
Which nation has the comparative advantage?

Part II – If the U.S. utilizes 50 units of inputs for the production of each of these goods, which is total output in the U.S.?  Suppose Canada does the same; what is their total output?

Part III – Now determine total output under specialization – show both countries can be made better off.

2.
Suppose the U.S. dispute with China over its undervaluation of its currency leads to the imposition of a quota on the import of textiles – a major component of Chinese exports.  Before the imposition of the quota, textiles sold for an average of $12 per square yard in international markets.  The U.S. consumed 20 million yards of textiles, and imports accounted for 70% of that total.  The quota is set at 10 million yards, resulting in a rise in the domestic price to $15/yard.  At this new price, total U.S. demand falls to 18 million yards.


a.
Illustrate graphically:

-The loss in consumer surplus
-The gain to foreign producers

-The gain in producer surplus

-The dead-weight loss


b.
Repeat each of these numerically

Part II – Why might the U.S. want to consider a tariff as opposed to a quota?  Give two reasons.










Next->
3.
One of the goals of the Doha Round of the WTO is to increase the access that developing nations have to agricultural markets in Europe and the U.S.  Brunei is a significant producer of cotton in Africa, and would welcome the access to U.S. markets to obtain the money needed to buy capital goods.  Although Brunei has abundant labor, it is relatively capital-poor in relation to the U.S.

a.
Draw an Edgeworth Box for both the U.S. and Brunei.  Make sure it is completely labeled.
b.
Illustrate three equilibrium points for each nation.  Map these onto a well-drawn PPC.

c.
Demonstrate that trade can make both nations better off.

4.
In their article on the Norwegian apple market, Gaasland and Vardal compare the impact that a tariff and a quota of similar effect would have on consumers and producers.  State their general findings.  Which trade policy caused the greater reduction in consumer surplus?  Which provided greater returns to producers?
